
WRD-09128
WRD-09131

square tube

wardrobe

45.2 in L x 19.3 in W x 68 in H

HONEYCANDO.COM | CUSTOMERSERVICE@HONEYCANDO.COM | 877.2.I.CAN.DO (877.242.2636)



        

 

     

 

      

 

 

 

         

 

       
 

    
 

    
 

     

    

 

      

PARTS LIST
PART/ILLUSTRATION (QTY) DESCRIPTION

A

( 1 ) bottom vertical supports

 

B

( 1 ) bottom vertical supports

 

D

G
( 1 ) top vertical supports

( 1 ) bottom shelf

C

( 1 ) bottom vertical supports

E

F

 
( 1 ) top vertical supports

 ( 1 ) top vertical supports

H

( 3 ) shelves

I
( 3 ) horizontal rods

J
( 1 ) back support

K

( 2 ) screws (11.5 x 4.8 x 10 mm)

L ( 2 0 ) screw nuts (11.5 x 6 x 12 mm)



  

honeycando.com

 

 

 

M

( 1 6 ) screws (11.5 x 4.8 x 24 mm)

P
( 4 ) screws (10 x 4.8 x 12 mm)

 

PARTS LIST
PART/ILLUSTRATION (QTY) DESCRIPTION

N
( 2 ) screws (11.5 x 4.8 x 30 mm)

O

( 6 ) screws (11 x 6 x 25 mm)

Q

  ( 2 ) washers

R
( 2 ) hex wrenches

1

C

D

I

I

O

O

O

O

NOTE: TWO PERSON ASSEMBLY RECOMMENDED.



ASSEMBLY

Honey-Can-Do

2

A

C

D

N

M

M

M

M

N

L

L

L

L

L

L

Q

L

Q

N



ASSEMBLY

honeycando.com

3

E

F

G



ASSEMBLY

Honey-Can-Do

4

M

L

M

M

M

M

M

M

M

M M

M

M

L

L

L

L

L

L

L

L

L

L

L

L

K

K

L

R

R

K

L

R

R



ASSEMBLY

honeycando.com

5

O

O

I



201013

YOUR SOURCE FOR
ORGANIZATION,
STORAGE & STYLE

Honey-Can-Do International
5300 St. Charles Road, Berkeley, IL 60163 USA

877.242.2636 | honeycando.com | customerservice@honeycando.com
©2020 Honey-Can-Do International, LLC | All Rights Reserved

Visit youtube.com/myhoneycando to watch our assembly videos.

6

J

P

P

P

P


